
63 
 

103

60

30

1 6 5

5

1.
2 2

1 1
+ +1

5 4

(1) 1.01 (2) 1.05 (3) 1.1 (4) 1.15 (5) 1.21

2.

(1) 7 33 <7 (2) 10 55 <10 (3) 100 302 <10

(4) 2log 3 1.5� (5) 2log 11 3.5�

3. 15 30

(1) 1     (2) 2     (3) 3      (4) 4      (5) 5 

4. 24

(1) 55 (2) 66 (3) 132 (4) 198     (5) 253

5.

(1) 
1

20
(2) 

1

4
(3) 

3

4
(4) 

3

5
(5) 

4

5



64 
 

6. ABCDEF

(1) AB AB�
� �

(2) AB AC�
� �

(3) AB AD�
� �

(4) AB AE�
� �

(5) AB AF�
� �

30

7 12 5

5 1 3 2 1

2

7.

(1) 3.1416 (2) 3 (3) 10 10log 5 log 2�

(4) 
sin15 cos15

cos15 sin15

� �
�

� �
(5) 3 22 1 0x x x� � � �

8. 3 2 2 1 0x x x� � � �

(1) –2 –1        (2) –1 0        (3) 0 1

(4) 1 2 (5) 2 3

9. a 1 ( ) xf x a� ( ) logag x x�

(1) (3) 6f � (36) 6g � (2) 
(238) (38)

(219) (19)

f f
f f

�

(3) (238) g(219) g(38) g(19)g � � �

(4) ,P Q ( )y g x� PQ

(5) 5y x� ( )y f x�
1

5
y x� ( )y g x�



65 
 

10. A B 30% 70% A 1%

B 5%

(1) A

(2) B

(3) A 3

38

(4) A 30

10000

(5) B 350

10000

11. 9 ( )

2.43, 2.46, 2.41, 2.45, 2.44, 2.48, 2.46, 2.47, 2.45

100 240

3, 6, 1, 5, 4, 8, 6, 7, 5

(1)  5     (2)  2

(3)  2 .45 (4)  0 .2

(5)  2 .45 

12 . , , ,a b c d
8

4 3

ax y c
x y
� ��

	 � �


3

4 3

x by d
x y
� � ��
	 � �


(1) 2a � �        (2) 6c � �       (3 ) 12b �



66 
 

(4) 9d � � (5) 
8

3

ax y c
x by d
� ��

	� � �


40

1. A H

13–36 2. 5

A. ( )f x 2 5 4x x� � 2x � 2 5 6x x� �

3 4x � ( )f x 2 4 3x x� � x �

B. E 25 2

( 13 ) 64 E

C. 

1 2 3 4 5 6 1 2

D. ABCD 1, 5, 5, 7AB BC CD DA� � � � 90DAB BCD� � � � �

AC

E. O (1,0), ,A B C

AB BC� OAB 3

10
OAC�

( )

F ABCD -EFGH 1 P

3 1 2

4 2 3
AP AB AD AE� � �
� � � �

, P AB

( )

13 14

15 16 17 18 

19 20 21 

29 

28 

26 27 

24 25 

22 23



67 
 

G xy (1,2,1)P

(0,0,0)O R POOR 2� R

(         ,         ,       )

H P
2 2

1
9 16

x y
� � 1F 2F

1 2: 1: 3PF PF � 1 2F PF� 35 36

30 31 32 33 34 


